10 9 8 6 5 4 3 2 1
SPE FEMALE
FRONT VIEW 11.3
.
?8.6
|t
© © —
\14 N\ 4 L
I |
el —
| e
[ )
1 T
PCB LAYOUT TOP VIEW :
10.0 U{
| T
9.0 B
-t L]
2.8 15.0
- > -t . >
e |
POSITION | H\ POSITI] 2x 0.6
» !
Q’\('L GND GND ‘
o5t GND A
@'\'Q <D I
m
0.).\- © {J POSITION Q N g N
® X x| o™ <
™
aor N
o ! Y
™
N
NOTES:
1. VOLTAGE: 60 V AC
2. CURRENT:4 AAC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s
4. STATIC TEMPERATURE: -40 °C TO 80 °C
5. DYNAMIC TEMPERATURE: -25 °C TO 80 °C —A L .=
6' MATING CYCLES 1000 FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
7. PROTECTION: IP67 7 T v SYMBOLS [DIMENSION UNITS|  SCALE ﬁ\jl[J:%RRIIE\/l’\,‘A;\[rFOEI\\I/ DESC: ADD PACKAGING
8. PACKAGING IN TRAY WITH 50PCS T &= 0| _mm | 5:1 mOIex
9. DESGINED ACC. I T o|
IEC63171-6 K—; Wz 0 ANGULARTOL ¢+ 1.0° ECNO: 770582 PCB JACK M12 STRAIGHT 12,5 MM
IEEE 802.3bu Ll ™ 4PLACES |+ DRWN: MBLOESER 202312104
IEEE 802.3cg N DIVISIONAL |3 pLACES |+ CHKD: RSILLER 2023/12/05
IEEE 802 3bw e T o |APPR. RSILLER 2023112105 PRODUCT CUSTOMER DRAWING
INITIAL REVISION DOCUMENT NUMBER DOC TYPE| DOC PART | REVISION
IEEE 802.3bp CONTACT | SIGNAL TPLACE  |* 9! IDRWN: MBLOESER 2022110113 2909570008 PsD| 000 | A1
IEEE 802.3ch 1 BL_DA+ OPLACES |t 02 |APPR: THAERDT 2022/11/02
DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2023/12/05 16:21:31 | 2 BL_DA- T s @ -E=F |A3-SIZE | 220957 | 2209570008 | GENERALMARKET | 1OF 2
L 9 8 6 5 4 3 2 1




10 9 8 7 6 5 4 3 2 1

F
Iﬁl gl
E i
D pick paint
; -
] oint of gravit
= o /
i i . -
g £y
= i ol
i 1" 1!l ik
= .
== = ==
il ‘ I i oo
=4 R,
811G ‘
* i 13
g
C re 1
S
i _;-..--..-..L
i85 ¥
—
B
a0 pes per tray
FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
SYMBOLS [DIMENSIONUNITS|  SCALE | CURRENT REV DESC: ADD PACKAGING
- of_mm_| 11 SRR molex
GENERAL TOLERANCES
W= 0| (UNLESS sPECIFIED)
ANGULARTOL + 1.0°
W= 0 ECNO: 770582 PCB JACK M12 STRAIGHT 12,5 MM
APLACES |t DRWN: MBLOESER 2023/12/04
' DIVISIONAL[3PLACES |t CHK'D: RSILLER 2023/12/05 ODUCT CUSTO S
view without cun b 2PLACES  |: oos |APPR: RSILLER 2023/12/05 PRODUCT CUSTOMER DRAWIN
L8 - INITIAL REVISION DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
1 PLACE k3 0.1
DRWN: MBLOESER 2022/10/13
OPLACES |t 02 |APPR: THAERDT 2022/11/02 2209570008 PSD| 000 | A1
DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
MUST REMAIN
DOCUMENT STATUS | P1 | RELEASE DATE | 2023/12/05 16:21:31 | WITHIN DIVENSIONS @ 1 |A3-SIZE | 220957 GENERAL MARKET |  20F2
8 7 6 4 3 2 1




10 9 8 6 5 4 3 2 1
SPE FEMALE $21.8
FRONT VIEW - > M16x1,5
2 — 1
(—B—BD A ‘\V’_ _7_ A
© ~\F :
' N\ — M12x1 T = -
= ki @@ 1“ | = \+ k¢ % I+ =
é é@ N—"V /] " * = °
Y | Y
PCB LAYOUT TOP VIEW
10.0
.
2x 0.6
- 9.0 -
3x 1.0 3x0.3
2.8
|' T ‘| A
T = 5
o
POSITION H\ POSITION ‘_$ r Y Y W o
-+ ‘ | [ | < “ )
\'/ A - : : | AN ’ 1 TR %
f\'/ o aa\ ﬁ ™ o o o B ‘
;\(.1’ GND N \TJ | T N - o o //// =
(D GND o P P \ AN
— %) %) N N © o? .
"5\" GND \J — D § N
— <
®'\Q {} 0
N
T o
05\- o {J POSITION N~ o™ N o\l
®Q’ - < N~
q;\~
NOTES:
1. VOLTAGE: 60 V AC
2. CURRENT: 4 AAC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s
4. STATIC TEMPERATURE: -40 °C TO 80 °C RECOMMENDED PANEL CUTOUT
5. DYNAMIC TEMPERATURE: -25°C TO 80 °C
6. MATING CYCLES: 1000 /—\
7. PROTECTION: IP67
8. PACKAGING AS KIT
9. DESGINED ACC.
IEC63171-6
|IEEE 802.3bu \\/ FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
IEEE 802.3cg %BOLS DIVENSION UNITS S1°AL15 CURRENT REV DESC: mo ex
= mm .
IEEE 802.3bw N 0 I
IEEE 802.35p = (14.2201) = - o] SR
IEEE 802.3ch i (15-75 "0-1) ™ ANGULARTOL ¢ 10° |\ 726250 PCB JACK M12 STRAIGHT 12.5MM FRONT MOUNT
W: 0lsptaces |- DRWN: MBLOESER 2022/11/02
BILL OF MATERIAL DIVIIONAL |3 PLACES | CHK'D: THAERDT 2022/11/02
2PLAcES | o005 |APPR:_THAERDT 2022/11/02 PRODUCT CUSTOMER DRAWING
ITEM [ QTY [ MOLEX PN DESCRIPTION MATERIAL FINISH/COLOR CONTACTISIGNAL NTIALREVISION: e D e IT vy
1 1 |2209570008 | PCB JACK M12 STRAIGHT 12,5MM | METAL GREEN A F°T DRWN: MBLOESER 202211017 2209570009 psp|000| A
- 1 BL_DA+ OPLACES |t 02 |APPR: THAERDT 2022/11/02
2 1 2209570012 SH ELL M12 FRONT MOUNTED BRASS NI 2 BL DA DRAFT WHERE APPLICABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2022/11/02  13:30:27 | = T s @ -E=F | A3-SIZE | 220957 | 2209570009 | GENERALMARKET | 1 OF 1
revson 1) 9 8 6 5 4 3 2 1




10 9 8 7 6 5 4 3 2 1
SPE FEMALE
FRONT VIEW
M16x1,5
ja—aj e
Al hid 4 %\ :q
‘5 4 h\ \ M12x1 N _‘@
“‘ [{(OXEO)] | : | H—>
PCB LAYOUT TOP VIEW
10.0 SW 18
> 1 2
9.0
- >
2.8
g —p———————
‘ A
Jr
POSITION POSITIPN
4+ \ H\ o
\'/ A ~
vd o 5
Q\f» T T o v ¢
"5\' GND ’L 2
s & — Y o 9 o
05\- {J POSITION N~ o)) O 2 8
® : ) N lap) > - T
o oY~ SW 19 o
9.0
f],"\‘ e
NOTES: < » 100
1. VOLTAGE: 60 V AC
2. CURRENT: 4 AAC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s
4. STATIC TEMPERATURE: -40 °C TO 80 °C RECOMMENDED PANEL CUTOUT
5. DYNAMIC TEMPERATURE: -25°C TO 80 °C
6. MATING CYCLES: 1000
7. PROTECTION: IP67
8. PACKAGING AS KIT
9. DESGINED ACC.
IEC63171-6
F s
IEEE 8023bu \\/ UNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
IEEE 802309 SYMBOLS [DIMENSIONUNITS|  SCALE | CURRENT REV DESC:
IEEE 802.3bw < (14.2+0.1) » /- o _mm | 1:1 molex
IEEE 802.3bp - 0| nisssseecieo)
EEE 802.3ch - (15.75 t0.1) - W‘ 0 pem e EC NO: 726259 PCB JACK M12 STRAIGHT 12.5MM BACK MOUNT
- 4 PLACES 3 .
BILL OF MATERIAL VROV [spioes || oHKD: THARRDT | 20221102
S e - 005 |APPR: THAERDT 2022/11/02 PRODUCT CUSTOMER DRAWING
ITEM|QTY[MOLEX PN | DESCRIPTION MATERIAL FINISH/COLOR CONTACTISIGNAL s L o AT REVISON e ST
1 [1 [2209570008 [ PCB JACK M12 STRAIGHT 12,5MM | METAL GREEN ; BL DAx e —{DRUN: MBLOESER zuzaon 2909570010 psp| 000 | A
2 1 2209570011 SH ELL M12 BACK MOUNTED BRASS NI 2 BL DA— DRAFT WHERE APPLICABLE THIRDA‘NGLEPROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2022/11/02  13:30:29 | = T s @ -E=F | A3-SIZE | 220957 | 2209570010 | GENERAL MARKET | 1 OF 1
revson 1) 9 8 7 6 5 4 3 2 1




